22 SECURITY DOOR PARTS CATALOG

Standard Z-Bar*f (Aluminum)

PROFILES
*INDICATE COLOR / F INDICATE LOCK STYLE NUMBER

Set 16504

Hinge 16503

Lock 16502
Header 16509
Complete Set 16504

Bottom Expander® (Aluminum) - Indicate Length

2 3”
13874

Extended Z-Frame™*T (Aluminum) 16506

HEADER
[ °\
=
w w
al e o
(%] w
w ol
Q O
I|° O 9
O
°
L L]

Cam Lock Assembly

Inswing Door Bracket

84” 96”
............. Set O 16016 e C
el Lodk ST FO
Header
Small Build-Up Tube*t (Aluminum) 16507
84” 96”
............ Set o .
Hinge}Lock """"""""
Hee'l‘der """""""" 17231
Large Build-Up Tube*1 (Aluminum)
84” 96”
Set .................... 1 6015 ........................
. nge/LOCk I e
- Header e

Build-Up Angle Set (Steel)

T-Bar (Aluminum)

Oor27 16011

Indicate
Length

1Y4 x 2%

MISC.

(Wool Pile)

Felt Padding for Z-Bar

Extended Door Sweep

Pyramid Head Hinge Screw

Zinc - 161837

Window Clip
White - 16179W

16135

Black - 16179

Used primarily
for very
uneven floors.

Zinc - 161792

Rubber Sweep/"T" Vinyl

1 3/8 Self Driling Pan Head Screw

White - 16170

16024 .
B Black - 16170B

Zinc - 16170Z

Screw Packs

16512

White - 16293-W

Black - 16293-B

16070

16511

STRIKE PLATES / DUST BOXES

#1 and #2 Door Strikeplate

Indicate Color - 16157

#1 and #2 Frame Strikeplate

Indicate Color -

16151

#3 Frame Strikeplate

#3 Door Strikeplate

Indicate Color - 16158

- m— m—

Indicate Color -

16152

#4 Frame Strikeplate (Stainless)

#4 Door Strikeplate

Indicate Color - 16159

Indicate Color -

oo o

16153

#5 Frame Strikeplate (Stainless)

#1 & #5 Dust Box (Aluminum)

16154

g B a

#3 & #5 Dust Box (Aluminum)

62

All_Parts v8/18/14



#4 Economy

Polished | Satin Nickel | Antique | Bronze
Single Cylinder 19180 19184 19182 19186
Double Cylinder 19181 19185 19183 19187

#5 Universal Lock

SECURITY DOOR PARTS CATA QG—J
#1 Lock Knob #2 Lever Lock
Polished Satin Nickel | Antique Polished Satin Nickel | Antique
Si gle Cyllnder 16033R 16037R 16035R Single Cyl R/H 16300R 16310R 16304R
Double Cylmder 16034R 16038R 16036R. Single Cyl L/H 16302R 16308R 16306R
Cylinder Set Double Cle/H 16301R 16311R 16305R
16051 16052S 16052 y Double Cyl L/H 16303R 16309R 16307R
Cylmder Set
Single Cylinder ) n 16051 160528 16052
16059 16060S 16060 —————
Single Cylinder
16049 160508 16050
16071 160728 16072
16047 16048S 16048
-& 16045 160468 16046
Mushroom Knob Lock Body L/H
w 16044 16044S 16044A 16058M 16058N
Lock Body R/H Lock Body L/H #1 9 Schlage Knob
16058 16058L Polished | Satin Nickel | Antique | Bronze
Knob 13270 13592 13285 11120
#3 Slimline Lock Smgle Cylmder 13272 13591 | 13287 | 11122
Polished | Satin Nickel | Antique Double Cylin der 13271 13590 13286 11121
Single Cylinder | 16313R 16317R 16315R
Double Cylinder | 16312R 16316R 16314R
""""""" #21 Schla e Lever
Single Cyl Only g
E 16055 160558 16055A Polished | Satin Nickel | Antique | Bronze
o I RS SRR— Lever 13279 13589 13294 11127
Double Cyl Only e s) RN RN -
16054 16054S 16054A Smgle Cylmder 13272 13591 13286 11122
= ‘»f’ ,,,,,,, Double Gylinder | 13271 13590 13287 | 11121
Lever Set
h 16053 160535 | 16053A
2 3 x 10 Mailslot k} 1/2 x 13 Mailslot

o
1[]*"——‘_

Lna—

Polished - 13357R
Anthue - 13366R
Satm Nlckel - 13473R

Antique - 13365R

Aged Bronze -11170

Polished | Satin Nickel | Antique | Bronze

Smgle Cylmder 16321R 16327R 16325R | 11146
Double Cylmder 16323R 16328R | 16326R | 11147
63

#1 (knob) & #2 (lever) have the same lock block size
must change complete lock when changing from knob
to lever. Can use mushroom on #1 only.

CHANGING FROM DOUBLE TO SINGLE CYLINDER
#1 Change just the inside thumb turn

#2 Change plate & handle

#3 Change whole cylinder in & out

#4 Only available in double cylinder

#5 Change complete lock

All_Parts v3/10/15



A - 2 Latch Bolts w/ Mounting Screws (Match Hardware Finish)
B - 1 piece 3/4 Plastic Cover

C - 3TNuts

D - #3 Strike Plate in Lock Box

E - 3 #8-32 Flathead Screws

Slimline Lock
#3 & #4

A - 2 Latch Bolts w/ Mounting Screws (Match Hardware Finish)
B - 1 piece 3/4 Plastic Cover

C -2 TNuts

D - Strike Plate

E - 8-32 Flathead Screws

A - 2 Latch Bolts w/ Mounting Screws (Match Hardware Finish)
B - 1 piece 3/4 Plastic Cover

C -2TNuts

D - #5 Strike Plate

E - 2 #8-32 Flathead Screws

Double Door Latch Bolt Astragal Bar

16013

’ Indicate
Pohshed Brass - 1(70()9B —
Color and

Smanckd 1()069\ Size
\\hlte 16069

Door Knob Door Lever
#1 #2

Universal

Astragal Screw
Cover

‘)0’)0

Indlc ate Color and Slze

All_Parts v2/4/14




